ROVER ROBOT NEEDS YOQUR HELP TO GET ACROSS A GRID.

‘GO’ OR 'STOP".
EACH SQUARE IS MARKED EITHER ‘GO" OR e
COVER CAN CONTINUE MOVING AS LONG AS IT NEVER LANDS ON A ‘STOP".

T AT ANY SQUARE IN ROW 1.

ROVER MAY STAR
GET ROVER ROBOT TO ROW 9.

THE OBJECT 1S TO
YOU MAY CHECK ANY SQUARE TOSEE IF IT IS A ‘GO’ OR A ‘STOP’,

BUT YOU ONLY GET A LIMITED NUMBER OF CHECKS.
HOWING YOU WHERE ROVER ROBOT

YOU WILL ALSO HAVE A MAP OPTION S
HAS BEEN AND ALL THE ‘STOPS’ UP TO THE CURRENT ROW SO THAT YOU MAY

MOVE ROVER BACK AROUND DEAD ENDS.
AGAIN, YOU ONLY GET A CERTAIN NUMBE

NDS AVAILABLE AND WHAT EACH ONE DOES:

R OF MAPS.

HERE ARE THE COMMA

ROVER ROBOT CAN STEP TO ANY SQUARE TOUCHING THE ONE
IT'S ON — HORIZONTAL, VERTICAL, OR DIAGONAL
THE COMPUTER WILL ASK FOR ROVER’S NEW SQUARE WITH

ROW,COLUMN?

STEP

CHECK YOU MAY CHECK ANY SQUARE TO SEE IF IT IS A ‘GO’ OR A ‘STOP".
THE COMPUTER WILL ASK WHICH SQUARE TO CHECK WITH

ROW,COLUMN?

LOOK THE NUMBER OF ‘STOPS' STRAIGHT AHEAD FROM WHERE ROVER
1S TO ROW 9 AND THE NUMBER OF ‘STOPS’ IN THE NEXT ROW

WILL BE PRINTED.
YOU MAY ‘LOOK’ AS MANY TIMES AS YOU WANT TO.

MAP DRAW A MAP FROM ROW 1 TO THE ROW THAT ROVER ROBOT
IS CURRENTLY IN. THE MAP WILL SHOW ROVER'S PATH AND
EVERY ‘GO’ AND ‘STOP” IN THESE ROWS.
YOU GET A LIMITED NUMBER OF MAPS.

INFO WHERE ROVER ROBOT IS, THE NUMBER OF CHECKS YOU HAVE
LEFT, AND THE NUMBER OF MAPS LEFT.

END LEAVE ROVER ROBOT STRANDED IN THE GRID

WHICH GRID DO YOU WANT — NOVICE, REGULAR, OR EXPERT? NOVICE

WOULD YOU LIKE A CLUE (YES OR NO)? YES
HINT: POSITION 1,4 IS GO

‘THERE ARE 21 STOPS
YOU HAVE 15 CHECKS AND 3 MAPS

GOOD LUCK!

*? STEP
ROV{,GOLUMN’ 1,4

*? LOOK

THERE ARE 4 STOPS STRAIGHT AHEAD
THERE ARE 3 STOPS IN ROW 2

#2 CHECK

ROW, COLUMN? 2,5

GO

COLUMN? 2,5

T E ARE 3 STOPS STRAIGHT AHEAD




*? MAP
*'s ARE ROVER ROBOT'S STEPS

COLUMNS

ROWS 1 2 3 4 5 6

1 STOP GO GO " GO GO
2 STOP GO GO  STOP . STOP

+2 STEP

ROW, COLUMN? 1,6

GO

«2 STEP

ROW, COLUMN? 2,7

GO

*2 LOOK

THERE ARE 2 STOPS STRAIGHT AHEAD
THERE ARE 3 STOPS IN ROW 3

*? STEP
ROW, COLUMN? 2,8
GO

*? LOOK
THERE ARE 1 STOPS STRAIGHT AHEAD
THERE ARE 3 STOPS IN ROW 3

+2 CHECK
ROW, COLUMN? 3,8
GO

+2 STEP
ROW, COLUMN? 3,8
GO

#? INFO

ROVER ROBOT IS AT 3,8
YOU HAVE 10 CHECKS LEFT
YOU HAVE 2 MAPS LEFT

*7 CHECK
ROW, COLUMN? 4,8
GO

... TAKE OVER , ROVER Rodor Ts cowrin on JOV 7/

7 8
STOP GO
GO GO

(l(’
GO



1780
1710
1720
1730
1740
1758
1768
17780
1782
1790
1800
1810
1820
1838
1848
1858
1860
1870
1880
1890
19@0
1918
1920
1930
1948
1958
1968
1970
1980
1990
200
2010
2028
20830
- 20640
o 2850

2060

2070

E 2080
2890

21008

v 2110
2120

\ 2130

- 2150
E 2160

2170
{ 2180
2190
2200
2218
2228
2230
2240
225
2260

amaze

e=1

60TO 1738

IF WIR»S+1) THEN 175

X=INTI(RND(@)»34+})

GOTO X OF 2230,2378,2479

X=INT(RNDC@) w24+ 1)

GOTO X OF 223@,2379

IF S#V THEN 1812

IF Z=1 THEN 1Ba@

Q=1

GOTO 1828

IF WER,S+1] THEN 18ag

X=INTCRND(G)#2+1)

GOTO X OF 223@.2a7e

GOTO 2238

IF S-1=0 THEN 2@60

IF WIR,S=-1] THEN 20é0

IF R=H THEN 198@

IF WIR+1,5) THEN 1989

IF S#V THEN 1939

IF Z=1 THEN 19&@

e=1

GOTO 1940

IF WIRs5+1) THEN 1960

X=INTCRNDC@)*3+1)>

GOTO X OF 2300,2370,2470

X=INTCRNDC@)*2+1)

GOTO X OF 2300.,237g

1F S#V THEN 2028

IF Z=1 THEN 285a

e=1

GOTO 2830

IF WER,S+11 THEN 2059

X=INTCRNDCB>*2+])

GOTO X OF 2300,2478

GOTO 2380

IF R=H THEN 21680

IF W(R+1,S] THEN 2160

IF SeV_THEN 2128

IF Z=1 THEN 2150

e=1

GOTO 2138

IF WIR,S5+¢1] THEN 21S@

X=INT(RND(@) #2+1)

GOTO X OF 2378.,2478

GOTO 237@

1F S#V THEN 2288

IF Z=1 THEN 2220

e=1

GOTO 2210

IF WIR,S+1) THEN 2228

GOTO 2478

GOTO 2660

WIlR=-1,S13=C

C=C+1

VIR-1,S1=2

R=R-1

1F C=H=*V+] THEN 2570

9=e

GOTO 1498

WIR,S-11=C

C=C+1

VIR,S-11=1

$=5-1

IF C=H=*V+l THEN 2670
@

Board Games

ROVER

REM w»u PEOPLE'S COMPUTER COMPANY
REM 2w 1919 MENALTO AVENNE MENLO PARK, CA

1
2

3 REM wam 7-74

4 REM wwxs GASED ON AN IDEA BY JEFF SUMAERG, RIDGEVOOD., NEVW JERSEY
5

REM %»» WITH HELP FROM JOHN ROHMERTSON
SO REM wxx UARIAHLE CONVENT 1ONS

S2  REM M$  =>  INPHT MESSAGES
54 REM D$ => STRING FOR DECODING COMMAND

56 REM E$ => STRING FOR DECUDING DIFFICIULTY OF GRID

56  REM R => NUMSER OF ROVWS IN GRID

60 REM Rl  => CURRENT ROV YOU A9E IN

62  REM R9 => PASSING ROV HETVEEN ROUTINES

64 REM C  => NUMHER OF COLUMNS IN GRID

66 REM C1 => CURRENT COLIMN YOU ARE IN

68  REM €9 => PASSING COLUMN HETVEEN HOUTINES

70  REM Kl => NIUMHER OF CHECKS YOI HAVE LEFT

T2  REM M1 => NIIMBER OF MAPS YOU HAVE LEFT

74 REN 5 => NIMERICAL REPRESENTATION OF A 6O

76 REM P =% NUMERICAL REPRESENTATION OF A STOP

77 REM Pl = NUMBER OF STOPS IN ThHE GRID

78 REM ¥ => NIMERICAL REPRESENTATION OF A POSITION ROVER'S MEEND
80 REM X  m> NUMERICAL REPRESENTATION OF WHERE ROVER STOPPED

62  REM Zl  => TEMPORARY

B4 HEM 2% => RETURN CODE: O CONTINUE GAMEZ | STOP

100 REM wxx DIMENSIONS AND GLOBAL VARIABLES
104 DIM M$(72),D306),E4(3)

106 R=9

112 c=9

116 DIM F(9,91

120  D3$="SCLMIE"

124 EsS="NRE"

128 P=Q
132 §=)
136 Y=2
140  X=3

190 REM »wwx [NSTRUCTIONS?

192 PRINT DO YOI VANT INSTRUCTIONS C(YES OR NOJX";

194 INPUT MS§

196 IF M$[1.13 <> 'Y" THEN 200

196 GOSUB 2600

200 REM =*» JNITIALIZE GRID, CHECKS, MAPS

204 GOSUE 2000

208 REM sx* FIND A GO STARTING POSITION AND GIVE INFO
212 GOSUB 900

216 “REM »=% THE GAME PROCEEDS

220 GOSIS 1000

224 REM xxx ANOTHER GAME?

226 PRINT

232  PRINT “DO YOU WANT TO TRY ANOTHER GRID (YES OR NOJ"J
236 INPUT Ms

240 I1F MSC1,13="Y" THEN 200

244 REM === BYE

248 GOTO 2999
900 REM =*x GO STARTING POSITION AND # STOPS, ¢ CHECKS. # MAPS

904 R1=0

908 c€l=0
PRINT
PRINT "VOULD YOI LIKE A CLUE C(YES OR NO)>*;
INPUT MS

IF MSL1,1) <> "Y' THEN 960
Z1=INT(C/2-1+2%RNDCO?)
1F FC1,213=S THEN 944
Fll1.211=5

PIEPl=1
2 T “HINT: POSITION 1,"“3Z)1;"1S GO“

T “THERE ARE":P1;"STOPS"
Ot HAY ‘CHE

INT ™You CHEGKS AND"3;M1Ji"MAPS"

rER OF EACH COMMAND IS UN1QUE



1236 PRINT “Go»
1240  RETIRN
1246  PRINT “STOP™
1250 RETIRN
1300 REM === LOOK GOMMAND
130a  zi=o
13C6  FOR I1=R1+} TQ R
1312 IF FUISC1) <> P THEN 1320
1316 Zl=21+1 3
1320 NEXT 1 5
1324  PRINT “THERE ARE™;Z1;“STOPS STRALGHT AHEAD
1328 zi1-0 . )
1332 FOR I=1 TO C — vy .
1336 IF FERI+1,1) <> P THEN 1344 W Lo \ L
1340 Zi=z1+1 wng :( 5 T ' & g
1384 NEXT 1 : o o2l W ;
p= 1348 PRINT “"THERE ARE";Z1;"STOPS IN ROW“JRI+l ) ‘5:‘. « ;3 54 % I.‘ X
1352 RETURN & £a8 w X o-F ad W L
1400 REM »»» MAP COMMAND Y w B L - ¥ bk a8 .
1404 REM »»= SEE IF THERE ARE ANY MAPS LEFT & g Eﬂ,; k8 o%s yUR oY 7
1408 IF M1 >= | THEN 1420 ; Q ) i wd ¥
1412  PRINT 'SORRY, BUT YOU'VE ALREADY USED ALL YOUR MAPS™ I-;I‘ - F”jm : k’ .g::{t\ ( bt::-‘w‘ - “‘“ \ﬂ
1416 RETURN g‘g 3 0 o ; §~ Bww R
1420 Mi=mMl-1 H N - & Maer B
1224 REM »x= THE MAP IS PRINTED FROM ROV 1 TO ROV RS9 &, & mgg il 9\‘“‘ i,gm;\ ah K
1428 R9=RI ns poan e R EREY R f
1232 ©OSUB 2200 i 5 3 \ - Pods “as ¥ gy M
el el R 8 odf W 8 wak "i%‘b b B |
1500 REM s»= INFO COMMAND - e e _on® R §
1504 PRINT “ROUER ROBOT IS ATMiR13"s"JCl B “E* 5 9 0 .\.3 Vs w@ y
1508  PRINT "“YOU HAVE";KL}"CHECKS LEFT 3 " E'ig " ggts .{2;. g &
1512  PRINT “YOU HAVEYMI;"MAPS LEFT t2 g mﬁj g 4 FNaB g EE oE
1516 RETURN D BB mg = e g g L SE': P
1600 REM ==»x E MMA « R w M R NE W
1604 REM =%» SET END-OF-GAME RETURN CODE E-g 2 5;:‘- .Z_“. o &a;é" -.:_';_mé w0
29=1 " ® R AW AR R My m
{:‘.’: PRINT "YOU'UE LEFT ROVER ROBOT STRANDED - HOW SELFISH %‘E 8:'&: UE!: ""lz W i"iﬁii ;L :.
1616 GOTO 2616 - HY) ,.:,\i ] )
2000 REM s=x INITIALIZE GRID, # OF CHECKS, # OF MAPS £ w'-:g; O zEQ; :gg* Pu ¥
200a PRINT R 8§ WO »<w¢§ wiu NTREIE
: X “ i C
Eo%2 ThINT "WHIGH GRLD DO YOU VANT - NOVICE. REGULAR. OR EXPERT" £3 y gg.‘?% EE.‘-S card B2l 5%
, 2
2016 INPUT MS - gg v 2 . 3B <
2020 FOR L1=1 TO e > 0
IF MSC1,)11=ESCLL,LI) THEN 2036 = oW 2 § 2 3 3 :5 n,
NEXT L1 $2 w & 0 ®
GOTO aol'«_l’ . kg W
- o
_:l:;,al..ll ;“;‘?..:t S T e R :‘:’
FOR I=1 TO R (e EEER &
R RS 1 T
FLI,J)=1NTCRNDCO)+Z] = : e : : L
IF FC1.03=) THEN 2064 FEEECETAEREERANERRER Bt
Pl it 20N © sentatoNerR
L gERgnassavIIIaAaNNaL LI
+ ONE STOP IN EAGH COLUMN AMONG THE LAST 3 ROVS RN ANERINAN N NA NN NN NN AN
[R=1713=P) OR (FIR,11=P) THEN 2062
l:: %’,us COLUMN 1IN ONE OF THE LAST THREE ROWS
I=p
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